Best model for HELP J142028.391+532625.614 at z = 0.856 x2=2.91
OPTx?=4.34 IRx?=0.08 threshold (OPT IR)=14.85 [um]

102 3 . Stellar attenuated
1 Stellar unattenuated
1 1 [T —— Dust emission
10 3 —— AGN emission
= Model spectrum
0 | ® Model fluxes
10 E M oObserved fluxes
> 1071 + e
S
— -2 P
2 ]
o o]
1073 4
1074 3
107 3 [
X E
3 _ B
H074 3
= ] ==f=(Obs-Mod)/Obs
S ]
i) ]
T ]
] o e e T il o e e e ————————— -
o ]
) ]
2 ]
S ]
r_u—]_ T maas — T — T — CiGEAL
o 10° 10! 102

103 104 -
Observed wavelength [um] il



